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NEN PE ST v ko
EGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % ERT | BInF K4 OUT IN | GROSS| HDCP | NET |crosshsif: e

1A i 45 45/10.8 |34.2 S1IUH ¥&Z 47 47! 9.6 |37.4
2| A IEH] 36 36| 1.2 |34.8 521/ BIR 40 40| 2.4 137.6
3PN 41 41/ 6.0 |35.0 b3 WERE FET 40 40 2.4 137.6
48K H 40 40| 4.8 |35.2 4|85 5 40 40| 2.4 137.6
5 #E FHR 40 40| 4.8 | 35.2 55| B 40 40| 2.4 |37.6
6B FJ 40 40| 4.8 |35.2 56| EH H & 46 46| 8.4 |37.6
7\5%% I 39 39| 3.6 |35.4 57 F0H #kda 46 46| 8.4 |37.6
81/NEK FEIR 39 39| 3.6 |35.4 58| MR 5L 46 46| 8.4 |37.6
9| 1L £ 39 39| 3.6 |35.4 59BN JiE 39 39| 1.2 |37.8
LOJIAT B 5 38 38/ 2.4 |35.6 60| 2 H —3k 51 51/13.2 |37.8
11piH & 43 43| 7.2 |35.8 61|25 % 38 38/ 0.0 |38.0
12| /88 IEAT 43 43| 7.2 |35.8 62| mhFr Bk 43 43| 4.8 |38.2
13EJR & 43 43| 7.2 |35.8 63|2HH =% 43 43| 4.8 |38.2
145 W) Zh 43 43] 7.2 |35.8 64|50 HEK 43 43] 4.8 [38.2
15|B8 fdttst 37 37 1.2 |35.8 65| 5 F]F 49 49/ 10.8 |38.2
16| AR H Fefst 36 36/ 0.0 |36.0 66| FHBAS i HE 42 42| 3.6 |38.4
17257 B 42 42] 6.0 |36.0 67 FHBE FERA 42 42] 3.6 |38.4
18|51 47k 42 42] 6.0 |36.0 68| 47 47| 8.4 |38.6
1983 — K 48 48/ 12.0 [36.0 69 |AED FREME 40 40| 1.2 |38.8
20 |85 AE 41 41| 4.8 |36.2 0| e B 40 40| 1.2 |38.8
21 /N3 & 47 47/10.8 |36.2 TR F/IH 46 46| 7.2 138.8
22| KRk TR 40 40| 3.6 [36.4 216 SCHE 46 46| 7.2 |38.8
23/ (&= 40 40| 3.6 |36.4 731w BEH 46 46| 7.2 138.8
24 0% HR 46 46| 9.6 |36.4 T4 HA BT 52 52| 13.2 [38.8
25 | B ERER 40 40/ 3.6 |36.4 5 /NI B 5 45 45/ 6.0 139.0
26 INEF BB 52 52| 15.6 | 36. 4 76| PR FEZ IR 51 51112.0 [39.0
27|58 FFIE 52 52| 15.6 | 36.4 17| A 50 50| 10.8 |39.2
28| RAR EH 39 39| 2.4 |36.6 78| 8&H t— 44 44| 4.8 [39.2
29 /s T 45 45| 8.4 |36.6 19| B B 44 44| 4.8 |39.2
30|58 W 39 39| 2.4 |36.6 80| FEH A 43 43| 3.6 |39.4
31 {5 45 45| 8.4 |36.6 81|29 F— 42 42) 2.4 139.6
32|/NEK BEEF 45 45| 8.4 |36.6 82| 4y W% 48 48| 8.4 [39.6
33 1EHE FHRER 45 45| 8.4 |36.6 83| HFHI s FL 42 42] 2.4 139.6
3| A H F— 51 51/ 14.4 |36.6 84 HT B 48 48| 8.4 [39.6
35|81 CF% 38 38/ 1.2 |36.8 85 |FlEs 41 41 1.2 139.8
36| HIE JtF 38 38/ 1.2 |36.8 86| g AR K 47 47) 7.2 |39.8
3T Ak A 44 44| 7.2 136.8 87| B H BiiE 56 56| 15.6 | 40.4
38| $H 44 44| 7.2 |36.8 88|47 H— 57 57/ 15.6 | 41.4
39| Bin) 44| 44] 7.2 [36.8 89|11 RIS 11 44| 2.4 141.6
40| Rk R 44 44| 7.2 136.8 90 Viivim B 56 56| 14.4 | 41.6
41O BHHEH 44 44| 7.2 |36.8 91 KK 53 53] 10.8 | 42.2
42| AT SRR 37 37 0.0 |37.0 R2EL Wi 52 52| 9.6 [42.4
43| H 43 43 6.0 [37.0
44 FEE A 43 43| 6.0 [37.0
45 R BT 43 43| 6.0 |37.0
46 | #5 K PR 36 36|-1.2 [37.2
47\ B e BAT 42 42| 4.8 137.2
48 =R FufA 42 42| 4.8 |37.2
49| IKF Tk 41 41] 3.6 |37.4
50| KR &R 41 41| 3.6 |37.4
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